WY/ IP/10 s dsgon cleo o o B pitusnns 9 1 JUSauws (1 pod

23S 0,9 -)
x[n] = 6[n] + 26[n — 1] — 6[n — 3] h[n] = 26[n + 1] + 26[n — 1]
2 3w lod ouw) 9 dwlmo 1) ) s pbglgils Sl S5 n

a) y[n] =x[n] = h[n]
b) y[n] = x[n + 2] * hn]

2Bl LB 21 4o 45 sl 105 4N ez 2 ) AB Jladie 3 50 45 )3 1) W[N] JUSis -¥

An] = (" Huln + 3] - uln ~ 10])

1 n-k-1 A<k<B
hin—k] ={3) L A<k<
0 . o.w.

el b paen (29,5l OT 4006 ks N[N] 5 oo S (5399 X[N] S 2,8 -V

x[n] = Q)" "uln - 2]

1 , 4<n<15

ol 6T 8 gy N s 52 5399 X015 52,5 ] = {1 = =

by ) el (=95
(3alo 4llhs 1) Cannl 2307 p93 Ao 43 45| Canw gy iba) Ahiamno oo J> i ug;)l

©31peSin (Shors 47 255 dpslona ygorms s G190 b1 s Slse Jeolo X(8) = rect (£) 5 y(£) = rect () s

a) h(t) = x(t) * x(t) b) z(t) = x(t) * y(t)
- 3555 dpulona ,2(8) = X() * A(E) Joolo x(8) = 2071 (3) 5 R() = T o0 8(t — 3K) 355 5 ,sl
S oo |) el (57905 15399 Olgie @ X() 28,5 55 )5 b canl R(E) = 6(E + 2) + 28(t + 1) pitnsw SO 200 grwly 33S 25—V
t+1 , 0<t<1

x(t)=12—-¢t, 1<t<?2
0, 0.W.

Jeol> G929 b pualiige X (1) 1) Su392 53 JUSmw oyl eumsl F 393 3 b S35 13 X() JUSooms 338 428 30 50K S5 )3 1) O 2 05 SIY(E) 9 X(1) JUSmw 95 I

T3 puS0 (Slaous a4z . 3uS Ao 1) j pibglgilS 9o

2) 2)=x0 @ x(©
b) h(h)=y(t) ® x(D)




IS 9 TECH() b 1y pudly S 35 340ly5 LT cte JiSgms 9 ol b 52200 90 Jiiams (a3l a5 oo JiSms 93 b pos Ju 4> ¢ sy

reet(gr) =[G =

t
(Y _ ¢ 1-— .|t <2T
trt (ZT) /\(ZT { 2T

0 . ow.

sl 2 g0 4 JUSw 93 (2l Zoe JSB 9 duls 2350 Gl tri() L) cdie

n6G)

 E—




